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OHdIEI2d JI2HHl 2124
2,950,000 x5 14,750 0 14,750
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15,000, 0002 %0.03545 532 0 532
OdIEI23 JIZHH 31y 282
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OHIEHZY J12HH NE2E 288
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OQUIE23 JIZHl AHHEE 282
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201 et gl 90,000 0 90,000
01 At2teltl 9,000 0 9,000
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2 5523l 3,000 0 3,000
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03 A= HI 78,000 0 78,000
ONMEEZ g 2ZAH
120,0002 % 1753] 21,000 0 21,000
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10,00021%5,250 52,500 0 52,500
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01 At 228l 40,000 0 40,000
OADIE2E S20PHE
20,000,000 * 141 20,000 0 20,000
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OZHZ £2H 018
10,000,000& 14! 10,000 0 10,000
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01 =ZLHA b 1,000 0 1,000
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B 2¢ 94,000,000 14! 94,000 0 94,000
stz &S 6,480,170 7,214,700 AT734,530
= 30,594 0 30,594
pJ 156,280 156,280 0
e 1,964,440 1,924,440 40,000
= 4,328,856 5,133,980 A805,124
Zt0=-A X 599,380 603,380 24,000
A2 2 575,000 557,000 18,000
201 22| 3,000 0 3,000
03 SAFZ S| 3,000 0 3,000
OAALZotMl A2 K&
3,000,000& 14! 3,000 0 3,000
401 AIEHIZ S OHYI 15,000 15,000
01 Al=H] 15,000 15,000
OLLZSMAAI 228 X AIEE &X
15,000,000 14! 15,000 0 15,000
HESEA X2 12,300 14,300 2,000
307 212+01 ™ 12,300 14,300 /2,000
04 QIZIHAAIE 2 & 12,300 14,300 A2,000
OE=Y HEE At X 38 02 0 2,000 22,000
QIH0==M I X2 0 20,000 20,000
307 el2+ol: 0 20,000 20,000
02 QB HAIEER 0 20,000 220,000
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33 0 0 20,000 220,000
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= 568,425 504,945 63,480
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= 40,000 0 40,000
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= 1,914,440 1,914,440 0
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OYYRYTAHB A SABAY|
100,000,000 * 14 100,000 0 100,000
YYDE 2532 AteS 50,990 0 50,990
= 30,5%4 0 30,5%4
2 20,3% 0 20,3%
201 2Br2| 50,990 0 50,990
= 30,5%4 0 30,5%4
2 20,3% 0 20,3%
03 A2 50,990 0 50,990
02023 YRR 25TY AY
50,990,002 %14} 50,990 0 50,990
2 30,5% 30,594
= 20,3% 20,3%
Ssis 29 Y #e 763,1% 283,1% 500,000
SAsEYER 2 783,136 283,136 500,000
AuBEE A L MEE ZAXAAR (KA) 500,000 0 500,000
401 AIEHIZL 2 0HYI 500,000 0 500,000
01 AlEHI 500,000 0 500,000
OURHANRNLSD AABHE RIZ 2
R 500,000,00021%14] 500,000 0 500,000
S5 2=zl 3,159,744 1,539,331 1,620,413
= 776,500 573,500 203,000
| 138,652 128,652 0
& 932,074 228,574 703,500
= 1,312,518 598,605 713,913
SEHE3H 2l 2,859,413 1,239,000 1,620,413
2 776,500 573,500 208,000
e 872,250 168,750 703,500
2 1,210,663 496,750 713,913
EXE 23 E=E| 1,425,000 105,000 1,320,000
= 702,000 42,000 660,000
2 723,000 63,000 660,000
401 AIEHIZ 2O 105,000 105,000 0
S 42,000 42,000 0
2 63,000 63,000 0
01 A&l 97,000 105,000 28,000
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= 3,200 0 3,200
= 4,800 0 4,800
402 2I2tX=01H 1,320,000 0 1,320,000
& 660,000 0 660,000
i 660,000 0 660,000
02 QIZHRHZ AT 2% (OIF M) 1,320,000 0 1,320,000
O THAX &=
1,320,000,000& * 14! 1,320,000 0 1,320,000
= 660,000 660,000
i 660,000 660,000
HES2st MSEZE A 57,413 47,000 10,413
101 eI214] 9,913 9,913
VB EE T 9,913 9,913
Oy stw SATS JIZHHZ2Z2 Xt eld| 9,913 0 9,913
SEEIESED
1,005,000 «1H+8& 8,040 8,040
o4ty PEE 20,0002 1 262 1,600 1,600
O X4 39,00020+72! 273 273
307 QIO M 47,500 47,000 500
02 CIRIH MM BT 47,500 47,000 500
oYU HESE HSA X2 33,500 33,000 500
oJlzel 2% 3,500,008 %1 3,500 3,000 500
DINH2S L S=2o U SHEHXA (LY ot 600,000 600,000 0
A SRS TEARIGE L ARIZYT LT HABS
M B2lS HE L HEFH)
= 420,000 420,000 0
= 9,000 %,000 0
i 90,000 90,000 0
401 AIE YIS SO 0 600,000 A600,000
2 0 420,000 A420,000
= 0 9,000 A0,000
i 0 90,000 290,000
01 A&l 0 580,000 580,000
OLLHA SH4RSH S HE L HE &
Bl Z2& 0 0 580,000 /580,000
= 0 406,000 A406,000
= 0 87,000 87,000
= 0 87,000 A87,000
02 Zeltl 0 20,000 220,000

274~




OFJ
"
ok
0J

70 oy 10
7 0K OF

EEEEEEEEE EEEE S88EE|E S8E8|EE S 88 SS88E88 E8EIEE RS
A0 mm&&mm%%m EEBE IFTPIe ®Ooogr© s g RCOCg LHBgeEH B
Klo
E
=]
o O O O
S <TG
3l
R0
m
° SS8E|18 S888 8888|8 888|888 8|8 g8888|8 SE888E88
28§58 g8k [T goOoolgr©sg ROCg LhBgeEH B
3
2
=
i o oo oW T T AT ¥ o TN TN B TR
12 g g g
R0 ol o o
RO &0
&l RS T8 o] 8
. o g CLES] = Q
al ' i 70
< —~ ~ <+
o ® o o iy
= o = ~
. Ry o =
— o) 10}
= = 0H
ol 0o r _ _
T @ T C_o 3 =
o 5 'S ok i} il
H il i o o
& = 3 e il
RO IS W m
S S

£A

©

01 AlZH]

—275-




SN Y2
mu: 25l SEL
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SN - B BR(EH) - NRA - BES 04l o oy o HimE=T
01 AlZH] 239,000 0 239,000
OLATAL QMTHY BRI S151E LS FH|
SA 239,000,000& 14! 239,000 0 239,000
2 167,300 0 167,300
= 35,850 0 35,850
= 35,850 0 35,850
02 Zreltl 11,000 0 11,000
OHATAL QATHEH BRI S5t LHSE |
SAH 2l 11,000,000 * 14 11,000 0 11,000
= 7,700 0 7,700
= 1,650 0 1,650
= 1,650 0 1,650
ozt X5 863,800 913,800 A50,000
Jl 68,000 68,000 0
= 34,000 34,000 0
= 761,800 811,800 250,000
oHor2H 22t 5 812,600 862,600 250,000
o] 68,000 68,000 0
= 34,000 34,000 0
2 710,600 760,600 250,000
BETY SMAL(LOOIC, L) SABHAL 276,600 326,600 A50,000
o
401 AIEHIZ SO 270,000 320,000 250,000
01 AlZH] 270,000 320,000 A50,000
OADY ZHA
AT 150,000,008 141 160,000 200,000 A50,000
of==a 2el 678,146 585,146 93,000
Hatol==2 29 678,146 585,146 93,000
Hétol==2 292l 164,623 71,623 93,000
401 AIEHIZL S OHYI 146,050 53,050 93,000
01 Al 146,050 53,050 93,000
Ol ESE ZUTEE R &X|
3,500,002 182H 63,000 0 63,000
OGN EHY LED BREY AX|
30,000,000 *14! 30,000 0 30,000
HYRE o 2 1,165,090 985,090 180,000
2 51,600 51,600 0
e 104,700 80,700 24,000
2 1,008,790 852,790 166,000
ENPEEY 1,165,000 985,090 180,000
2 51,600 51,600 0
== 104,700 80,700 24,000
2 1,008,790 852,790 166,000
OiSoi===& AlLetE & J2xd 568,500 468,500 100,000
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401 AIZHIL 2 0HH| 510,000 410,000 100,000
01 AlZH] 510,000 410,000 100,000
O3Sty A BrOIISAIE N AL
100,000,000 * 141 100,000 0 100,000
OHNE OIS+ 2E 2 (EX) 80,000 0 80,000
= 24,000 0 24,000
= 56,000 0 56,000
405 At&HESH 80,000 0 80,000
= 24,000 0 24,000
= 56,000 0 56,000
01 At =SFSHI 80,000 0 80,000
O=al2&HI0l 40,000,000 +2CH 80,000 0 80,000
= 24,000 0 24,000
= 56,000 0 56,000
2ol zx FHM g 1,678,544 1,135,000 543,544
CH 500,000 500,000 0
= 288,000 180,000 108,000
= 890,544 455,000 435,544
ZHYUEE AL B 1,471,544 928,000 543,544
CH 500,000 500,000 0
= 143,000 35,000 108,000
ik 828,544 393,000 435,544
=it QE DReIU AlEE RAI 24 100,000 0 100,000
= 50,000 0 50,000
[ 50,000 0 50,000
401 AIZBIKL 2 0HY| 100,000 0 100,000
= 50,000 0 50,000
ik 50,000 0 50,000
01 Al=H] 100,000 0 100,000
O=x=4t8t QE Df2lLt AIEE2 R B
100,000,000 * 14 100,000 0 100,000
L= 50,000 50,000
= 50,000 50,000
N MAZE WST2 S (MEALY) 114,000 70,000 44,000
= 57,000 35,000 22,000
= 57,000 35,000 22,000
307 @iZHo| & 114,000 70,000 44,000
= 57,000 35,000 22,000
= 57,000 35,000 22,000
02 QI BYAILE LR 114,000 70,000 44,000
O MAEL= PNSEZ2)EH
d3& 114,000,000 14 114,000 70,000 44,000
== 57,000 35,000 22,000
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| 2 57,000 35,000 22,000
U ALHAEIE X 20,000 0 20,000
= 3,000 0 3,000
2 84,000 0 84,000
307 ©12+0I A 20,000 0 120,000
= 3,000 0 3,000
= 84,000 0 84,000
04 QIZFARAI I 2 E 20,000 0 120,000
OMEHE X SHSAL
120,000,000/ 14! 120,000 0 120,000
= 3,000 0 3.000
2 84,000 0 84,000
BYUEX ALE X 22 407,544 328,000 79,544
101 Q1214| 8,344 0 8,344
VIR EEI=TP 8,344 0 8,344
oBYE= AEE RNl 2 8,344 0 8,344
02123 67,3402 5202 x4 5,388 0 5,388
OFg+Y 67,3402 %205 1,347 0 1,347
O”xt+Y 67,3402 54 270 0 270
Osdazsg 67,3402 +52440.5 169 0 169
On3sg+g 67,3402 452 337 0 337
GELISEL== 7.508,41021%0.045 33 0 3%
OEEEI=E 7,508, 41021%0.03545 267 0 267
OrPlI R
266, 17021%0. 1281 % 0 &3
OnECETI=E 7,508,41024%0.0175 132 132
OumEEE 7,508, 41021%0.008 61 61
307 ©12+0I A 3,200 20,000 16,200
05 pizteleta 3,200 19,000 16,200
ONBAIE 24H2IAL 2|
ZE 35,200,000 14! 35,200 19,000 16,200
401 A& HI 22 CHY| 300,000 250,000 50,000
01 Al&H] 300,000 250,000 50,000
OBBYT= ANEZ2 SN2L
2 90,000,000 14! 90,000 40,000 50,000
405 THAHF S 5,000 0 5,000
01 ML 2EF S| 5,000 0 5,000
OUENTE DS 7Y
500,000 104! 5,000 0 5,000
HY=STAl TEAY 200,000 0 200,000
207 R IHLH| 200,000 0 200,000
01 ] 200,000 0 200,000
OSBHAAMBBTA £& JI2P 42
=1 200,000, 0002 *14! 200,000 0 200,000
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